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Answer all the questions
Show all of your work

Question#| 1 | 2 | 3 | 4 | 5 | 6 | 7 |Total
Grade | /5| /6| /S| /S| /5| 6| /8 /40

1. Usetotaldxﬁbmnmltoappmxnmatethechangemﬂ ,y) = x2 4+ 3xy—2y? -4y as (x,y) varies
from P(2,-1) to 0(1.98,-0.99).
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2 Fmémaﬂonofﬂmplmeﬂmtcontmnsﬂxepomt P(1,—1,0) and the line of intersection of the
twoplanes 2x+y—2z+1=0 and 4x—-y+z+3 =0
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3. Determine whether the limit exist or not (show all details) ¢ )'hm(o 0 —‘szf )
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4 Sketchthereglonenclosedbyﬂ)cpambolmdz x2 +)? , and the ellipsoid 2x2+2y2+z
, and describe their curve of intersection .
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5. FmdtheequatlonofmcsphereﬂlatlscentemdatﬂlcpmntP(O 1 —2)andtxngenttotheplane
x-2y+2z-1=0
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8. Let z = flx,y) is expressed in the polar form z = g(r,0) by making the substitution x = rcos6
andy = rsinf . View rand 6 as functions of x and y, and use implicit differentiation to show
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7. For each of the following give a short answer in the assigned sp e
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a. Thcnormnlvectortoﬂleplane Ix+Ty—-z+2=0 mcqual_to :‘V\
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b. The graph of the spherical ion p = 4cos¢ has an equivalent rectangular equation
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c. The level surface for f(x,y,z) = x? + 4y? — 22 that passes through the point P(2, 1. 1) is
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d. The quadric surface 9x2 +)? — 222 + 4z + 3 = 0 is called
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- 1. Letthe point P(2, —g—, 1) with cylindrical coordinates then the equivalent = >
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rectangular coordinates are (\[g) \, \)

f: 4+ | = (&

and spherical coordinates are C\KSZJ%/,L 2_) b —--»"(7—-:\

g If z=fx)) =2x>+3xy,and x =2t ,y =L then find %f- at t=1
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